i
1

s
'1
/
r
4

l’ - L

U
O 1. A researcher made the following graph showing the number of hours per week that people
exercise versus the number of pounds that they are overweight.

Exercise vs. Weight
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‘Predict the number of pounds overweight someone would be if they spend 3 hours per week
exercising.

O A.30 B.25 ( C.20) D.10

2. The table below shows how the amount remaining to pay on a bank loan is changing
over time.

Time (months) Amount Remaining
‘ (dollars) \
70 5,000 \, 6o
I 4,800\ |
2 | 4,600 /7
3
4

4,400 /7400
4,200

Let x represent the time in months, and let y represent the amount in dollars remaining
to pay. Which equation describes the relationship between x and y?

A. y=-800x + 5,000 B. y=-200x+5,000 C.y=200x-5,000 D. y=800x-5,000



3. Find the domain of the radical function graphed below—.

A x>0 B. all real numbers C.x>1
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Which-oft wing functions matches the graph above?
2
@) = 57+

B f@ = 3¢ +2
C. flo) = %:c -9

%:c—S

D. f(a:}
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Savings Account Balance : O

dollars)

Balance (in

0 1 7 3% 7 8 9 10111213~
Time (in months)

The graph above shows a line of best fit for data collected on the saving account balances of
several students in relation to the time money has been put into the accounts. What is the

equation of the line of best fit? %t Yh
g — 630 (2, w?) 73‘ > ,
ALY = T5% T Y)_ Y' |
@y = 210z + 630 ’ 2160- 105 C 1050 %q ~ K, RVl O
- <

cY = —210z -+ 630

DY = oz + 630

7. In P.E. class, the students recorded their number of heartbeats after exercising. Below is a
chart with the number of heartbeats recorded after 30, 50, and 70 seconds of exercise.

What is the rate of change of the data in heartbeats peri%inu‘cef’;; o

ISeconds Passed ]No._I_—Ieartbeats' mz L
l 30 _,_WIM___Q?__\ 7&1’74\
(50 | 115 L3
R | 161 | ng M 2
= 7 E\a—-g;’ e ¥
707 ‘

A, 138 B. 230 C. 92 D.115 O



8. Which equation is graphed below.
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Sylvester's Pizzeria has a party room to accommodate pizza parties. They havé rectangular
fables that can be placed together end-to-end to sit large groups of people together. Some
sample seating arrangements are shown below.

88 58 88 .
oo = o ¥
50 7050

Which of the following expressions can be used to determine the number of people who can sit
as a group if ¢ tables are joined together?

A+ 1) '-\L\H) = &

B s 3 =6 3(ae) DK
202t -1) = 2(a0)-1y= K ) \
(2f+1) 5 a2y )Y 222y r1) 7 19 ‘/_




10. Which scatterplot most likely has a line of best fit represented by @
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11. Which of the following relations is a function?
A. (L 4), (-4, 6), (1, 3), (-8,2)
b4 £
(B) (1, ,¢4.2,6,1, (8,2
C. (1,0), (—;L, 3), (6, 1), (-4, 5)
3

D. (6, 1), (-4,4), (1, 1), (6,2)
% 3



j , ‘]‘;%L)‘Jn\

O 12. A line with a slope oOnd passes throuchhat is the equatmn of the line?

A.x+3y=11 o~y =15 = SR /G
B.y=y(x +4) gfm:L#b

._5_- (‘-t) + 5
-5 = -13;353 + b
+1.333 +[,2333

13,)A university completed a study to determine what effect drinking coffee had on hours of
sleep. After studying 1000 people, they concluded that for - every three cups of coffee, a person

sleeps two hours less.
--“-—--..——\__ . .
A

Which of the following graphs shows this linear relatlonsth‘? 3 ,\\
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14, What is the'domain of thé relation plotted on the graph below? " = e e e
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A. {-3,0, 1,3}
B. {all real numbers between and including -1 and 4}
C. {all real numbers between and including -3 and 3}

@ (-1,0,1,2, 4)

15. A company noticed a linear rélationship betwéenthe price of a luggage set and the number
of luggage sets sold. At $100, the company sold 1,000 sets. When the company raised the
price to $120, they sold 800 sets. Which equation relates the price of the luggage sets to the

total number of luggage sets sold? P Ly -y
| m =Yz -Yi “'} g i\
ie - i
A. y<100 = A{l‘?,(,x-—(ID'OO) ¢ 2 —¥X &
1}./34,_v-r600=10(¥m&) /jooo —=Goe oo —]O

-~ T00 = -10 (x - 1000) Joo 120 e

D. y—1000=-10 (x - 100)




16. According to the table below, what is the range of the data?

| X \/
O [input output
i 20 26 |
A
22 28
23 | 29
24 | 30

A.27,29,31,33,35
B. 20,21, 22, 23,24
Ly Ly Ll L
C.26,27,28,29,30
D. 20, 19,18,17,16

1 % 34
(524,33, 42,51, ..
+ -'-‘\T—‘}-——-f g
Determine which of the following formulas gives the #n™ term of this sequence.

A, 187
B.24-9n K=\
C.23 87
D.6+9n B+TN g X+l

n?!

O 17, The first five terms of a sequence are given below.

C



*18. Which of the following equations-match‘es""th’e" gréph‘below? L A O
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5\0( Megan is going on a long distance road trip. She drives for 19 miles before
oS n able to travel at a constant speed usmg cruise control. The equation

numer 0 mlles driven, and x is the number of hours driven after reachmg 19

miles, which statement best describes the rate of change in the distance 5'0(')@ ‘.Y T
traveled? —
(o neTantl
A,  For every hour, she will drive 87 miles. }/ = 6 &Q\ + A4
For every hour, she will drive 68 miles. o ’gﬁ‘ﬁ
C. For every two hours, she will drive 68 miles. -
D.  For every 19 hours, she will drive 87 miles. - (B (g> 5 1

.““:)

e BS ,.
L_,_,:l =22



20. Tom recorded how many people wete at the community pool over a few
hours and d1sp1ayed some of the data on the graph below. Assume the pattern

"~ continues.
y
A Pool Visitors
30
27 - -
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A. Write an equation to find how many people were at the pool (y) based on the’

O ht-).ur(x). g:: "_'Q)X I a ._}
l

¥

B. Use the equation found in part A to detelrnmé aftel{aow many hour;)there
will be[zero people at the pool) Show all your work Explain why you did each
Step '\Nw\"_"m"

T — -—(OX —’—‘;-7 SW\U... \é}\’u@fe}’iﬂg’s ("\6’1‘)
Q= X +277 ad-Fho post) PG

th }E«VD [~ Ng LA"
- Sicar X fegxeloends w"?
X = 4,5 hours Bt é‘:f(x _

C. Explain what the slope of the graph means in the situation.
The Bloe jo — WW&WP‘M
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